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VI Semester 3 Year LL.B. Examination, April/May 2022 (Dec. 2021)

Duration : 3 Hours

LAW OF EVIDENCE

Instructions : 1. Answer all five Units.

Q. No. 1.

Q. No. 1.

Q. No. 1.

Q. No. 1.

a)

b)

2. One essay type questions and short note/
problems is compulsory from each Unit.

3. Figures to the right indicate marks.

4. Answers should be written either in Kannada or
English completely.

UNIT — |

Explain the relevancy of facts showing the existence of
state of mind and state of body.
z:f’é%os R BB DN 2%)30333’% SRCOR0E  RONSNT
ﬁaﬁow%@oﬁa@ QROXD.

OR/epwme

“Facts connected with fact in issue so as to form part of
same transactions are relevant” — Discuss with reference
to Res gestae.

“2003¢ RFPHITE FPMEEMIH0Z WeRBIAS AONET FOWORAT
[ondned zb#owcg)mmgd "-0x° WA, YoSeDBRODN 3SF A

Write a note on ‘Test identification parade’.
‘WO, MOTET FODB DT wif 63Bed 2050000,

OR/ems
Write a note on distinction between ‘Admissibility’ and
‘Relevancy’ of evidence.
T MY ‘mm’ow%@}” 08 "@ONEEORIDNE NP, DoNGR 88TE3
Ao]ouble)

Max. Marks : 80

Marks : 10

Marks : 10

Marks : 6

Marks : 6
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Q. No. 2.

Q. No. 2.

Q. No. 2.

Q. No. 2.

Q. No. 3.

a)

a)

b)

b)

a)

2.
UNIT =i

“All confessions are admissions but all admissions are
not confessions” — Comment.

‘DR IRPWAN  LoNEBIT) LA SR8 SO0 SR,
90N EEITRED 3@‘39»7? @) - OWOR e,

OR/egm

“Hearsay evidence is no evidence” — Justify the statement
along with its exceptlons

“Bew SPT TRV AW, Q)" ~ B BePFOIRY, 9T RNBROAN
TP A.

The question is whether ‘A’ murdered ‘B’ ? During
investigation of the case, one ‘X’ said in A’s presence-the
police are coming to arrest the person who murdered ‘B.
‘A’ hearing these words of ‘X’ immediately ran away. Is
the above statement of ‘X’ relevant ?

a9 agé DJews ‘A'cdn B @da Ind Inlmecde ?
390608 IRa30% RoTHFBY. X’ a0 A’ B ,\%:%mes
- @@md} ‘B0 2R00 8030, BEND BRERDTY,
hsmE Hom Hebms. NSk Bt EndR) S0 90T
ééea 5.3 BREMOZTS. W 3 B3 Bevgan & oudde‘?

OR/eg=

‘A’ was charged with murder and he is in the police custody.
‘A’ makes a statement which leads to discovery to important
material objects. Decide the relevancy of the statement.

‘A 20wB8 Boed Bed HBRET , SR TPROCAT
DITOTE. B3 ATONTY A’ BRY, ée@ﬁoﬁooa’ TS0
mas e:‘:é)'?dﬁ @dmmﬁaé’ 85 Bevodd RIROUT Ggod)ab
Dd@a

UNIT -1l

Discuss the provisions relating to the exclusion of oral
evidence by documentary evidence.

AEDENEAY mgdaod R0 m#ﬂj ﬁmd@&@dﬁé ROLOPIT
SUTVOHNTTY, BWFAD.

OR/egse

R

Marks : 10

Marks : 10

Marks : 6

Marks : 6

Marks : 10
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Q. No. 3.

Q. No. 3.

Q. No. 3.

Q. No. 4.

Q. No. 4.

Q. No. 4.

a)

b)

b)

= 3=
Explain the relevancy of character evidence under the
Indian Evidence Act, 1872.
hnteklevs) mg& PRNODRO 18728 @01 SEE0D mémgci
ﬁaﬁow%@’oﬁaﬁ;{ DROR.
‘A’ wants to prove a registered will. He contends that he

need not call any attesting witness for the purpose of
proving will as the will is registered. Decide.

‘DD WO JREOTVOWZ TOTHTRS BOTA[BY DRALD
2IOIRTIS. DOTLOTRD  RRCOTHCIRNTIR) 00T @Cfﬁi
DoOTITRBODRA  odRT)Te mimddaﬁg{ 30030s @R358
QYO TORTF. eAF CWAD.

OR/e5w=e

Write a note on latent and patent ambiguity.
neE @8 Roeddpews PRES0D Wit £33 B0,

e ed

UNIT - IV

Define and explain the law of estoppel as laid down in
Indian Evidence Act, 1872.

P00 AT LRI, 1872 © T3wopner FowoPAT
FORAID wrj’\ w9, 809,2% W) DSOR.

OR/egs

Explain the presumption in dowry death and rape cases.
[OTET AN Y wEWT  TICLNFYOD PR
zgadﬁn’fédgt DWO0.

‘X' an accused of murder, contends that by reason of
unsoundness of mind he did not know the nature of the
act. On whom the burden of proof lies ?

S =BReLOINT ‘X' HoWBRD , 33N @@’:ﬁ@ mﬁaﬁgpéo:ood
WHOITO0T, T [RRT g2l wii I SISV eIne)
OIS, B3 TFCHDY, 0IRT el TowET  {RTH
Be® Atd3S ?

OR/egwe
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Marks : 10

Marks : 6

Marks : 6

Marks : 10

Marks : 10

Marks : 6
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Q. No. 4. Db)

Q. No. 5. a)

Q. No. 5. a)

Q. No. 5. b)

Q. No.5. b)

4- A AT

‘P’ was the wife of ’X’. Two months after the death of ‘X,
she marries ‘Y’. Five months after the marriage a son ‘Z’
is born to ‘P’. Discuss the legitimacy of the child. Marks : 6

‘P’ Qowpdcdy X'® ;% . X A8 20 gon¥ ToBT, WEeh
V' 20w0RIRY BT[RBT, DRCTRT w0 dond
S083 ‘P’030 Z’ 20w TR BTN &F DEBTY. ROTODT
POF 3,0 it 233

UNIT -V

What do you understand by the expression ‘competent
witness’ ? Whether a child witness is a competent witness ? Marks : 10

eIl A8 Q0w BOT SFEFED 7 WO AOIN AT
mioﬂae ?

OR/@@=e

Explain leading questions. Marks : 10
¢0ET AT @%ﬁ@ﬁg{ DRORD.

‘A’ women prosecutes a man for picking her pocket. Can

a question that she had given birth to an illegitimate child

10 years before, be asked ? Is it a proper question ?
Decide. Marks : 6

‘A’ 000 TOMAD 2o WFOD éadacjp 2¥en F300D BRET TR
DPOBR LIVBAHITS. B3 NPTHONY, ¥ BB I B
%073 womd BRRorE (illegitimate) Sordart wy JeRT Wit
~BBodby Fedwmdcie ? B FFodw ARE HFodde ? AFFOA.

OR/egwme

Write a note on powers of Judges/Courts Under Section
165 of Indian Evidence Act, 1872. Marks : 6

taplotideve! mi@ 5o0d) 1872 3 8wo 16509  evededssoNods
mﬁmoodod/msodm@wd CIALDleIA] wrj\ 238 L9B0200.




